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QUESTION 1

What is the transaction to access the CCMS alert monitor
A. RZ20

B. RZ21

C.Rz22

D. RZ23

Correct Answer: A

QUESTION 2

What are the return codes after the authorization check with the ABAP object authority-check?
A. The user has the authorization for the object and the fields value

B. The user has the authorization for the object, but not for filed value

C. The user has no authorization

D. No profile is entered in the user master record

E. Check if an authorization object is assigned to the transaction code

Correct Answer:. ABCD

QUESTION 3

ITS, scalability and load balancing, what are the 6 possible landscape?
A. Single Wgates connects to multiple Agates

B. Separate WGates connects to single Agate

C. Multiple WGates connects to multiple Agates

D. ITS connects to single Application server

E. Using groups at the creation dolmen level

F. Multiple ITS instances connect to single systems

G. ITS connects to message server (Load balancing)

Correct Answer: ABCDFG
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QUESTION 4

Profile parameter: If the parameter is set to 1 (default), user locks caused by incorrect logons during previous days are
not taken into consideration. If the value is set to 0, the lock is not removed

A. login/fails_to_session_end

B. login/min_password_Ing

C. Login/fails_to_user_lock

D. login/failed_user_auto_unlock
E. login/password_expiration_time

Correct Answer: D

QUESTION 5

Which authorization object define which printers you can print to?
A.S_SPO_DEV

B.S_SVR_DEV

Correct Answer: A
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